
325

300

1
5
0

R
1
0
0

1
2
5

40 NB PIPE BENT &

CAPPING TO OPEN END

WELDED TO PLATE WITH

3
0
0

2
5

1
2
5

1
2
5

2
5

250

50 150 50

5075 7550

FIXED TO WALL WITH

300 x 250 x 8 PLATE

MASONARY ANCHORS

5No M10 x 75

R
10

0

9
0
0

2
5
0

FIX FLANGE WITH 

MASONRY ANCHORS

3No M10 x 75

40 NB PIPE WITH WELDED

FLANGED ENDS

FACE OFF FRAME WITH

1No M8 x 65 BOLT

75 x 6 PLATE FIXED TO FRONT

FIX FLANGE WITH 

MASONRY ANCHORS

3No M10 x 75

FRONT ELEVATIONHOSE HOOK

SIDE ELEVATION -

SEPARATING FRAMES

SIDE ELEVATION -

REVISION DATE

The currency of the information should be checked by visiting the EFSG website prior to using the information for any purposes.

The information on this sheet once printed/exported is classed as an uncontrolled copy.  

11 DECEMBER 2013

STATE OF NEW SOUTH WALES

CROWN COPYRIGHT

DRAWING TITLE

SCHOOL TYPE

KEY LEARNING / SUPPORT AREA

NTS

Primary & Secondary

LOCATION

NOTES

SPECIFICATION REF

SG605/1

Frames from Steelpipe

PS605 Storage Unit

HS605 Storage Unit

HS605.03 Garden Store

PS605.01 Garden Store

Metal Fixtures

galvanised

- All steel to be hot dipped 

construction detail

Guide only; do not us as a 


